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Program Calculation

VarA,B, S, Z: Real;

Begin / InputA B /
L4

Read(A, B);
S +— A4B S=A+B  Z=A-B
Z<+ AB !
Write(S, Z); / Outputs.z /
End.
End
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Program Affectation
Vet STEP | A B C
A, B, C :real; 1 3 ? ?
Begin
s 2 3 10 ?
B «—10 3 3 10 13
C+—A+B
B<«—A+B 4 3 13 13
Koo 5 13 13 13
End
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[F(condition) then
Instl ;
Inst2 ;

O

True
condition

Instl;

Inst2;
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Algorithm Absolute Value Display

Variables / _ :{'x=';|- /

X,y :real ;
Begin / Read(x) ; /
Write('x=") ;
}' -— X
Read(x) ; 'y

T

y4— X

[F(x<0) then Yoa—

ye— X

ENDIF
Wnte( }r) ﬁ / j:jv) /
End. End )
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IF(condition) then ki

Instl ; | l\
false frue

xhd_ﬁ

Inst2 ; —-{Eanditinnhh‘:-—
“m&f,«-"—f
....... InstA : Instl;
Else InstB ; Inst2 ;
InstA; 0 |
InstB ; A~ }
:IK,,_F.J'I_
EndIF; ()
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Read (mark) ; .False e True
IF (mark<10) i O
Then (print "Student fail") [ print”Student pass * print "Student fail"
Else (print"Student pass ") -
{(O—
ENDIF xf
()
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While(condition) de ;‘rlx-x
o~
= e H—»_,__x False
Inst]_ . {\- conainon b
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—
Inst2 ; T e
Instl ;
.......... -
Endwhile
|
InstA
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